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Exam Instructions

1. This mock test is based on the latest AISSEE Class 6 exam pattern.
2. The paper consists of 125 questions for a total of 300 marks.
    - Mathematics: 50 Questions – 150 Marks
    - Intelligence: 25 Questions – 50 Marks
    - Language: 25 Questions – 50 Marks
    - General Knowledge: 25 Questions – 50 Marks
3. Time Duration: 2 Hours 30 Minutes (150 minutes)
4. Negative marking: There is no negative marking.

 

Note: This test is brought to you by Studybox Doon – India’s Trusted Online Institute for Sainik School, RMS & RIMC Preparation.

To join our full course with live classes, weekly tests, and expert mentorship – contact us at:
� +91-91511 70611 | � www.studyboxdoon.com

Q.2) For stealing jewels, Horace was sent to prison ..........................

A. only once B. twice

C. thrice D. never

Please mark (✓) for the correct answer.

Q.3) The profession of Horace was .....................

A. businessman B. thief

C. housekeeper D. locksmith

Please mark (✓) for the correct answer.

Question: 1 of 125 Marks: 2QID: 682

Question: 2 of 125 Marks: 2QID: 683
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Q.4) Choose the word which means the opposite of EXPENSIVE.

A. cheap B. luxurious

C. costly D. heavy

Please mark (✓) for the correct answer.

Q.5) Choose the word which means almost same as UNMARRIED.

A. handsome B. widow

C. young D. bachelor

Please mark (✓) for the correct answer.

Q.6) A herd of cows or ........................

A. birds B. elephant

C. sheep D. horse

Please mark (✓) for the correct answer.

Q.7) This is my book and that is........................

A. yours B. your

C. our D. ours

Please mark (✓) for the correct answer.

Q.8) Rajan's father and Rohan's father ........................ businessmen.

A. are B. have

C. is D. has

Please mark (✓) for the correct answer.

Question: 3 of 125 Marks: 2QID: 684

Question: 4 of 125 Marks: 2QID: 685

Question: 5 of 125 Marks: 2QID: 686

Question: 6 of 125 Marks: 2QID: 687

Question: 7 of 125 Marks: 2QID: 688
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Q.9) My friends ........................ been asking for the party photographs.

A. do B. does

C. have D. has

Please mark (✓) for the correct answer.

Q.10) Rakesh ........................ his mother tongue very fluently.

A. speak B. speaking

C. speaks D. none of these

Please mark (✓) for the correct answer.

Q.11) Ankit and his family .......................in Europe for three weeks.

A. have been travelling B. have travelling

C. been travelling D. have travelled

Please mark (✓) for the correct answer.

Q.12) Bharti ............... yoga classes these days.

A. attending B. has attending

C. is attending D. has been attending

Please mark (✓) for the correct answer.

Q.13) My house is .................. as yours.

A. big B. as big

C. bigger D. biggest

Please mark (✓) for the correct answer.

Question: 8 of 125 Marks: 2QID: 689

Question: 9 of 125 Marks: 2QID: 690

Question: 10 of 125 Marks: 2QID: 691

Question: 11 of 125 Marks: 2QID: 692

Question: 12 of 125 Marks: 2QID: 693
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Q.14) This is the.......................... comic I have ever read.

A. most interesting B. more interesting

C. less interesting D. None of these

Please mark (✓) for the correct answer.

Q.15) A book or work of art whose author is unknown:

A. anonymous B. playwright

C. novelist D. poet

Please mark (✓) for the correct answer.

Q.16) A person who believes in the existence of God:

A. atheist B. theist

C. agnostic D. pacifist

Please mark (✓) for the correct answer.

Q.17) I have completed my homework ......................... ?

A. have I B. has I

C. do I D. haven't I

Please mark (✓) for the correct answer.

Q.18) He does not do his work sincerely ..................... ?

A. does he B. did he

C. doesn't he D. do he

Please mark (✓) for the correct answer.

Question: 13 of 125 Marks: 2QID: 694

Question: 14 of 125 Marks: 2QID: 695

Question: 15 of 125 Marks: 2QID: 696

Question: 16 of 125 Marks: 2QID: 697

Question: 17 of 125 Marks: 2QID: 698
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Q.19) (A) and grandpa / (B) my grandma / (C) too much / (D) love each other

A. BDAC B. BACD

C. DBCA D. BADC

Please mark (✓) for the correct answer.

Q.20) (A) was very pretty / (B) in her childhood / (C) my grandma / (D) and beautiful

A. CBAD B. ADBC

C. CADB D. CDAB

Please mark (✓) for the correct answer.

Q.21) Mark the option with the correct spelling of the given words:

A. address B. adres

C. adress D. addres

Please mark (✓) for the correct answer.

Q.22) Mark the option with the correct spelling of the given words:

A. appresiation B. appreciation

C. appreciason D. apreciation

Please mark (✓) for the correct answer.

Q.23) 'Books' is for 'book', ..................... is for 'ship'.

A. sheeps B. ships

C. shepherds D. sheep

Please mark (✓) for the correct answer.

Question: 18 of 125 Marks: 2QID: 699

Question: 19 of 125 Marks: 2QID: 700

Question: 20 of 125 Marks: 2QID: 701

Question: 21 of 125 Marks: 2QID: 702

Question: 22 of 125 Marks: 2QID: 703
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Q.24) 'Kids' is for 'kid',......................... is for 'child'

A. childs B. child

C. children D. None of these

Please mark (✓) for the correct answer.

Q.25) _______ a beautiful scene it is ! (pick up the correct adverb)

A. What B. How

C. Always D. Never

Please mark (✓) for the correct answer.

Q.1) ...................... worried about the health of Horace.

A. his wife B. the priest

C. his housekeeper D. horace

Please mark (✓) for the correct answer.

Q.39) If OD isperpendicular to AB, and ∠DOC = 40°, find (∠BOC - ∠AOC)
          

A. \({ 80 } {̂ 0 }\) B. \({ 100 } {̂ 0 }\)

C. \({ 58 } {̂ 0 }\) D. \({ 210 } {̂ 0 }\)

Please mark (✓) for the correct answer.

Q.40) What is the third side of a triangle if two of its sides are 15 cm and 12cm, whose perimeter is
40 cm

A. 15cm B. 231cm

C. 18cm D. 20cm

Please mark (✓) for the correct answer.

Question: 23 of 125 Marks: 2QID: 704

Question: 24 of 125 Marks: 2QID: 705

Question: 25 of 125 Marks: 2QID: 681

Question: 26 of 125 Marks: 3QID: 644

Question: 27 of 125 Marks: 3QID: 645
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Q.41) A rope of length 51.9 meters was cut into pieces that were 1.73 meters long. How many pieces
was it cut into

A. 20 B. 54

C. 541 D. 30

Please mark (✓) for the correct answer.

Q.42) Find the perimeter of each of the following figure .
         

A. 45cm B. 23cm

C. 10cm D. 20cm

Please mark (✓) for the correct answer.

Q.43) Aman sells 1901.33 litres of orange juice on monday and 186.62 litres more than this amount
on tuesday. In total, how many litres of orange juice did they sell .

A. 3989.28 B. 3900

C. 398.28 D. 354.652

Please mark (✓) for the correct answer.

Q.44) When 9 is added to 90 % of a number, it gives the number itself. The number is .

A. 90 B. 180

C. 105 D. 354

Please mark (✓) for the correct answer.

Q.45) 45% of 50% of 1200 = ?

A. 300 B. 270

C. 450 D. 675

Please mark (✓) for the correct answer.

Question: 28 of 125 Marks: 3QID: 646

Question: 29 of 125 Marks: 3QID: 647

Question: 30 of 125 Marks: 3QID: 648

Question: 31 of 125 Marks: 3QID: 649

Question: 32 of 125 Marks: 3QID: 650
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Q.46) A factory manufactures cars and motorcycles in the ratio 9:13. If they make 765 cars in a given
period, how many motorcycles do they make in the same period

A. 1325 B. 1250

C. 1111 D. 1105

Please mark (✓) for the correct answer.

Q.47) The diameter of a cyclinderis is  28cm and its height is 20cm. find the volume of the cyclinder.

A. 32541 B. 12540

C. 12320 D. 11055

Please mark (✓) for the correct answer.

Q.48) Find total surface area of a cuboid of length 10 cm breadth 8 cm and height 6 cm

A. 654 B. 5648

C. 245 D. 367

Please mark (✓) for the correct answer.

Q.49) Find the radius of a circle whose circumference is 66 cm.

A. 10.5 B. 12.5

C. 16.25 D. 25.4

Please mark (✓) for the correct answer.

Q.50) A man took loan from a bank at the rate of 12% p.a. simple interest. After 3 years he had to pay
Rs. 5400 interest only for the period. The principal amount borrowed by him was.

A. 16,000 B. 24,000

C. 15,000 D. 12,000

Please mark (✓) for the correct answer.

Question: 33 of 125 Marks: 3QID: 651

Question: 34 of 125 Marks: 3QID: 652

Question: 35 of 125 Marks: 3QID: 653

Question: 36 of 125 Marks: 3QID: 654

Question: 37 of 125 Marks: 3QID: 655
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Q.1) Solve the following \((\frac { 2 }{ 7 } +\frac { 3 }{ 5 } )\)

A. \(\frac { 50 }{ 35 }\) B. \(\frac { 31}{ 35 }\)

C. \(\frac { 31}{ 26}\) D. \(\frac { 24}{ 35 }\)

Please mark (✓) for the correct answer.

Q.2) Arrange the following numbers in descending order \((\frac { 2 }{ 9 } ,\frac { 2 }{ 3 } ,\frac { 8 }{ 21} )\)

A. \((\frac { 2 }{ 3 } ,\frac { 8 }{ 21 } ,\frac { 2 }{ 9 } )\) B. \((\frac { 2 }{ 3 } ,\frac { 2 }{ 9 } ,\frac { 8 }{ 21 } )\)

C. \((\frac { 2 }{ 9 } ,\frac { 8 }{ 21 } ,\frac { 2 }{ 3 } )\) D. \((\frac { 8 }{ 21 } ,\frac { 2 }{ 3 } ,\frac { 2 }{ 9 } )\)

Please mark (✓) for the correct answer.

Q.3) A rectangular block of length 6 cm and 3 cm of width is noted . Find the perimeter of the
rectangular block .

A. 18 CM B. 20 CM

C. 14 CM D. 16 CM

Please mark (✓) for the correct answer.

Q.4) Find the side of the square whose perimeter is 16 m .

A. 16cm B. 6cm

C. 8cm D. 4cm

Please mark (✓) for the correct answer.

Q.5) A piece of string is 120 cm long . What will be the length of each side if the string is used to
form a square

A. 20cm B. 60cm

C. 30cm D. 42cm

Please mark (✓) for the correct answer.

Question: 38 of 125 Marks: 3QID: 606

Question: 39 of 125 Marks: 3QID: 607

Question: 40 of 125 Marks: 3QID: 608

Question: 41 of 125 Marks: 3QID: 609

Question: 42 of 125 Marks: 3QID: 610
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Q.6) John has stamps of different countries. 1/3rd of them are India stamps. if he has 36 Indian
stamps, how many stamps does he have in total .

A. 108 B. 120

C. 90 D. 132

Please mark (✓) for the correct answer.

Q.7) The average age of 25 students in a class is 15 years . out of them the average age of 16
students is 13 years . Find the average age of remaining 9 students.

A. 6 B. 5.5

C. 18.5 D. 5

Please mark (✓) for the correct answer.

Q.8) If Rs. 240 is divided between A and B to the ratio of 5:3, then what is the amount of A & B?

A. 300 & 500 B. 200 & 300

C. 150&90 D. 320 & 200

Please mark (✓) for the correct answer.

Q.9) Find cube root of 29791

A. 31 B. 51

C. 21 D. 32

Please mark (✓) for the correct answer.

Q.10) Find the smallest number which when divided by 12 and 20 leaves no remainder

A. 40 B. 50

C. 55 D. 60

Please mark (✓) for the correct answer.

Question: 43 of 125 Marks: 3QID: 611

Question: 44 of 125 Marks: 3QID: 612

Question: 45 of 125 Marks: 3QID: 613

Question: 46 of 125 Marks: 3QID: 614

Question: 47 of 125 Marks: 3QID: 615
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Q.11) Solve the following fraction \((2\frac { 2 }{ 3 } +3\frac { 1 }{ 5 } )\)

A. \(\frac { 54 }{ 15 }\) B. \(\frac { 74 }{ 15 }\)

C. \(\frac { 88}{ 15 }\) D. \(\frac { 80}{ 15 }\)

Please mark (✓) for the correct answer.

Q.12) two angles of a quadrilateral are each 90 degree and remaining two angles are such that one
is 3 times the other. find these two angles .

A. \({ 35 } {̂ 0 }\quad \& \quad { 155 } {̂ 0 }\) B. \({ 40} {̂ 0 }\quad \& \quad { 130 } {̂ 0 }\)

C. \({ 45 } {̂ 0 }\quad \& \quad { 135 } {̂ 0 }\) D. \({ 55 } {̂ 0 }\quad \& \quad { 110 } {̂ 0 }\)

Please mark (✓) for the correct answer.

Q.13) Karan deposited Rs 10,000 in a bank at an simple interest rate of 3% per annum . How much
amount will he receive at the end of 2 years .

A. 10600 B. 20800

C. 10222 D. 36610

Please mark (✓) for the correct answer.

Q.14) Name the type of triangle with length of side as 7.4 cm , 9 cm , 12 cm .

A. Equilateral triangle B. Right angled triangle

C. Scalene triangle D. Obtuse angle triangle

Please mark (✓) for the correct answer.

Q.15) The product of two numbers is 2925. II LCM is 195 find HCF.

A. 32 B. 20

C. 25 D. 15

Please mark (✓) for the correct answer.

Question: 48 of 125 Marks: 3QID: 616

Question: 49 of 125 Marks: 3QID: 617

Question: 50 of 125 Marks: 3QID: 618

Question: 51 of 125 Marks: 3QID: 619

Question: 52 of 125 Marks: 3QID: 620
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Q.16) If a bus travels 160 km in 4 hours and a train travels 320 km in 5 hours at a uniform speed .
Find the ratio of distance travelled by them in one hour .

A. 4..5 B. 2.6

C. 8.7 D. 5.8

Please mark (✓) for the correct answer.

Q.17) Find the missing number \('x'\quad (\frac { 8 }{ x } =\frac { 1 }{ 4 } )\)

A. 16 B. 32

C. 64 D. 45

Please mark (✓) for the correct answer.

Q.18) What is the area of the shaded region . (note : all the measurements are in meter)
              
      

A. 2510 m​2 B. 2600 m​2

C. 2488 m​2 D. 4500 m​2

Please mark (✓) for the correct answer.

Q.19) Finds the volume of cube whose side is 7 cm .

A. 300 cm​3 B. 453 cm​3

C. 343 cm​3 D. 542 cm​3

Please mark (✓) for the correct answer.

Question: 53 of 125 Marks: 3QID: 621

Question: 54 of 125 Marks: 3QID: 622

Question: 55 of 125 Marks: 3QID: 623

Question: 56 of 125 Marks: 3QID: 624
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Q.20) Express 12.5% as a fraction in lowest form .

A. \(\frac { 1 }{ 8 }\) B. \(\frac { 1 }{ 6 }\)

C. \(\frac { 2 }{ 7 }\) D. \(\frac { 6 }{ 13 }\)

Please mark (✓) for the correct answer.

Q.21) Add \(2\frac { 1 }{ 2 } +3\frac { 2 }{ 3 } +4\frac { 3 }{ 4 }\)

A. \(\frac { 45 }{ 6 }\) B. \(\frac { 145}{ 12}\)

C. \(\frac { 131}{ 12}\) D. \(\frac { 5456 }{ 64 }\)

Please mark (✓) for the correct answer.

Q.22) A man bought a cycle for 875 and spent 125 on repair . later he sold the bicycle at a profit of
10% . Find the selling price of the cycle .

A. 1000 B. 1100

C. 1200 D. 1300

Please mark (✓) for the correct answer.

Q.23) Find the simple interest on Rs 1200 for 3 years at 6.5 % rate per annum.

A. 545 B. 333

C. 250 D. 234

Please mark (✓) for the correct answer.

Q.24) What should be added to 24.87 + 9.001 + 0.504 + 52.1 to get 100 .

A. 13.525 B. 12.352

C. 1.3525 D. 14.251

Please mark (✓) for the correct answer.

Question: 57 of 125 Marks: 3QID: 625

Question: 58 of 125 Marks: 3QID: 626

Question: 59 of 125 Marks: 3QID: 627

Question: 60 of 125 Marks: 3QID: 628

Question: 61 of 125 Marks: 3QID: 629
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Q.25) Average of 1,2,X ,7,6 is 7 . Find the value of X

A. 21 B. 19

C. 18 D. 14

Please mark (✓) for the correct answer.

Q.26) \(ABCD\quad is\quad a\quad quadrilateral\quad with\quad angles\quad A=4{ 2 } {̂ 0 },\quad
B=5{ 4 } {̂ 0 },\quad C=X̂ { 0 },\quad D=X̂ { 0 }+7{ 0 } {̂ 0 }.Calculate\quad angle\quad C\quad
and\quad D.\)

A. \(9{ 0 } {̂ 0 }\quad \& \quad 16{ 0 } {̂ 0 }\) B. \(7{ 7 } {̂ 0 }\quad \& \quad 127 {̂ 0 }\)

C. \(58 {̂ 0 }\quad \& \quad 67 {̂ 0 }\) D. \(97 {̂ 0 }\quad \& \quad 167 {̂ 0 }\)

Please mark (✓) for the correct answer.

Q.27) The cost price of 19 chairs is equal to selling price of 16 chairs.The gain % is: .

A. 10% B. 15.5%

C. 25% D. 18.75%

Please mark (✓) for the correct answer.

Q.28) Find the diameter of a circle whose circumference is 88 cm.

A. 24 cm B. 28 cm

C. 20 cm D. 18 cm

Please mark (✓) for the correct answer.

Q.29) 15 pens cost Rs 180 . How much will 10 such pens cost.

A. 100 B. 120

C. 200 D. 160

Please mark (✓) for the correct answer.

Question: 62 of 125 Marks: 3QID: 630

Question: 63 of 125 Marks: 3QID: 631

Question: 64 of 125 Marks: 3QID: 632

Question: 65 of 125 Marks: 3QID: 633

Question: 66 of 125 Marks: 4QID: 634
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Q.30) A drum contains 500 liters of petrol . If 40% is leaked out , how much petrol is left in the
drum.\

A. 150 ltr B. 200 ltr

C. 300 ltr D. 400 ltr

Please mark (✓) for the correct answer.

Q.31) Convert \({ 100 } {̂ 0 }\) Celsius to Fahrenheit scale .

A. \({ 200 } {̂ 0 }\) F B. \({ 212 } {̂ 0 }\) F

C. \({ 312 } {̂ 0 }\) F D. \({ 205 } {̂ 0 }\) F

Please mark (✓) for the correct answer.

Q.32) Find the difference between the place value of 1 in 3116365 .

A. 80000 B. 90000

C. 60000 D. 40000

Please mark (✓) for the correct answer.

Q.33) The length and breadth of a rectangular field are in ratio 5 : 4 . If length is 20 m , find the
breadth.

A. 16cm B. 15cm

C. 24cm D. 4cm

Please mark (✓) for the correct answer.

Q.34) A bullock cart Travels 9 km in 3 hours and A train travels for 150 km in 2 hours find the ratio of
the speed of bullock cart to that of the train .

A. 2.35 B. 1.2

C. 1.20 D. 25.1

Please mark (✓) for the correct answer.

Question: 67 of 125 Marks: 3QID: 635

Question: 68 of 125 Marks: 3QID: 636

Question: 69 of 125 Marks: 3QID: 637

Question: 70 of 125 Marks: 4QID: 638

Question: 71 of 125 Marks: 3QID: 639
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Q.35) Find the least number which when divided by 15, leaves a remainder of 5, when divided by 25,
leaves a remainder of 15 and when divided by 35 leaves a remainder of 25. .

A. 120 B. 50

C. 150 D. 515

Please mark (✓) for the correct answer.

Q.36) The marked price of an article is Rs 200. A discount of 12.5 % is allowed on the marked price
and a profit of 25 % is made. What is the cost price of the article?

A. 140 B. 100

C. 30 D. 124

Please mark (✓) for the correct answer.

Q.37) 2.4 is what percent of 600 .

A. 4% B. 0.4%

C. 0.004% D. 40%

Please mark (✓) for the correct answer.

Q.38) (100% of Rs 4 ) + ( 4% of Rs 100 ) + 4 = ?

A. 8 B. 4

C. 12 D. 8.4

Please mark (✓) for the correct answer.

Q.1) If CATTLE is related to HERD then SHEEP is related to-CATTLE : HERD :: SHEEP: ?

A. FLOCK B. SWARM

C. SHOAL D. MOB

Please mark (✓) for the correct answer.

Question: 72 of 125 Marks: 3QID: 640

Question: 73 of 125 Marks: 3QID: 641

Question: 74 of 125 Marks: 3QID: 642

Question: 75 of 125 Marks: 3QID: 643

Question: 76 of 125 Marks: 2QID: 656
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Q.2) Choose the alternative that has the same relationship to 09 as 07 has with 56. 07: 66: : 09: ?

A. 54 B. 81

C. 72 D. 99

Please mark (✓) for the correct answer.

Q.3) Choose the alternative that will continue the number series below: 5, 11, 17, 23 ?

A. 31 B. 29

C. 28 D. 35

Please mark (✓) for the correct answer.

Q.4) If you fold the transparent paper along the dotted line in Figure ‘X’ which alternative figure from
A,B,C and D would you get?
                   

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Q.5) Choose the word which is least like he other words in the group.

A. BAKE B. PEEL

C. FRY D. ROAST

Please mark (✓) for the correct answer.

Q.6) Which of the following diagrams indicate the best relation between India, Haryana and World?

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Question: 77 of 125 Marks: 2QID: 657

Question: 78 of 125 Marks: 2QID: 658

Question: 79 of 125 Marks: 2QID: 659

Question: 80 of 125 Marks: 2QID: 660

Question: 81 of 125 Marks: 2QID: 661
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Q.7) Choose the word which is least like he other words in the group.

A. VIRGO B. PISCES

C. CANCER D. ORION

Please mark (✓) for the correct answer.

Q.8) .If STATEMENT is coded as TNEMETATS then POLITICAL will be coded as:

A. LACITILOP B. LCATILIOP

C. OPILITACL D. LACITIPOL

Please mark (✓) for the correct answer.

Q.9) Figure ‘X is embedded in any one of the four alternative, figures a, b, c and d. find the
alternative which contain figure ‘X’ as its part.
 

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Q.10) If ‘A’ means add, ‘B’ means subtract, ‘C’ means multiply and ‘D’ means divide, then what would
be the answer of the equation? 15 D 5 C 2 A 3=

A. 13 B. 11

C. 03 D. 09

Please mark (✓) for the correct answer.

Q.11) Five men a, b, c, d and e read a newspaper. The one who reads first gives it to c. the one who
reads last had taken from a e was not the first or last to read. There were two readers between b
and a who read the newspaper last?

A. A B. B

C. C D. D

Please mark (✓) for the correct answer.

Question: 82 of 125 Marks: 2QID: 662

Question: 83 of 125 Marks: 2QID: 663

Question: 84 of 125 Marks: 2QID: 664

Question: 85 of 125 Marks: 2QID: 665

Question: 86 of 125 Marks: 2QID: 666
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Q.12) Choose the alternative that has the same relationship to 16 as 12 has with 168. 12” 168::16:?

A. 232 B. 256

C. 224 D. 208

Please mark (✓) for the correct answer.

Q.13) If you fold the transparent paper along the dotted line figure ‘X’ which alternative figure would
you get?

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Q.14) If in a certain code DEAF is written as 3587 and FILE. Is written as 7465 then IDEAL will be
written as?

A. 43568 B. 43586

C. 63548 D. 48536

Please mark (✓) for the correct answer.

Q.15) Choose the word which is least like t he other words in the group.

A. PLASTIC B. WOOL

C. PAPER D. WOOD

Please mark (✓) for the correct answer.

Q.16) If we arrange the given words in alphabetical order, which word would come at last place,
choose the correct alternative?

A. ROBBER B. RANDOM

C. RESTRICT D. RESTAURANT

Please mark (✓) for the correct answer.

Question: 87 of 125 Marks: 2QID: 667

Question: 88 of 125 Marks: 2QID: 668

Question: 89 of 125 Marks: 2QID: 669

Question: 90 of 125 Marks: 2QID: 670

Question: 91 of 125 Marks: 2QID: 671
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Q.17) Choose the alternative that will continue the number series below. 11, 13, 17, 19, 23, 25?

A. 27 B. 29

C. 31 D. 33

Please mark (✓) for the correct answer.

Q.18) Choose the correct alternative that has the same relation to BMJ as HSY is to EPV. BMJ : ? :: EPV :
HSY

A. DRM B. YJG

C. EPM D. EON

Please mark (✓) for the correct answer.

Q.19) Which of the following diagrams indicates the best relation between flower. Lotus and rose?

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Q.20) Choose the alternative that has the same relationship to 11 as 49 has with 07. 07:49::11:?

A. 111 B. 90

C. 81 D. 121

Please mark (✓) for the correct answer.

Q.21) Choose the word which is least like the other words in the group.

A. GREEN B. PINK

C. INDIGO D. VIOLET

Please mark (✓) for the correct answer.

Question: 92 of 125 Marks: 2QID: 672

Question: 93 of 125 Marks: 2QID: 673

Question: 94 of 125 Marks: 2QID: 674

Question: 95 of 125 Marks: 2QID: 675

Question: 96 of 125 Marks: 2QID: 676
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Q.22) If X is the brother of the son of Y’s son, how is X related to Y?

A. SON B. BROTHER

C. GRANDSON D. COUSIN

Please mark (✓) for the correct answer.

Q.23) Area of rectangle is 48 m2. If the length is 6m then breadth___

A. 13M B. 6M

C. 10M D. 8M

Please mark (✓) for the correct answer.

Q.24) The priest told the devotee, “The temple bell rung at regular intervals of 45 minutes. The last
bell was rung 5 minutes ago. The next bell is due to be rung at 7:45am. At what time did the priest
give this information to the devotee?

A. 7.00am B. 7.05am

C. 6.55am D. 7.05am

Please mark (✓) for the correct answer.

Q.25) If in a certain code MBS is coded as ODU the BRL. Will be coded as?

A. DTN B. DUN

C. CSN D. CTN

Please mark (✓) for the correct answer.

Q.1) Which feature helps a coconut fruit to float in water?

A. a fibrous outer covering B. a spongy part

C. presence of hook D. presence of spine

Please mark (✓) for the correct answer.

Question: 97 of 125 Marks: 2QID: 677

Question: 98 of 125 Marks: 2QID: 678

Question: 99 of 125 Marks: 2QID: 679

Question: 100 of 125 Marks: 2QID: 680

Question: 101 of 125 Marks: 2QID: 706
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Q.2) Which of the following is a non-communicable disease?

A. chickenpox B. beriberi

C. common cold D. measles

Please mark (✓) for the correct answer.

Q.3) The rabies virus is carried by

A. cockroaches B. hens

C. dogs D. rabbits

Please mark (✓) for the correct answer.

Q.4) Milk turning sour is a

A. hysical change B. reversible change

C. chemical change D. none of these

Please mark (✓) for the correct answer.

Q.5) The wearing off or carrying away of soil by the action of water or wind is called

A. storm B. flood

C. soil erosion D. deforestation

Please mark (✓) for the correct answer.

Q.6) Whales and dolphins are classified as

A. fishes B. reptiles

C. mammals D. amphibians

Please mark (✓) for the correct answer.

Question: 102 of 125 Marks: 2QID: 707

Question: 103 of 125 Marks: 2QID: 708

Question: 104 of 125 Marks: 2QID: 709

Question: 105 of 125 Marks: 2QID: 710

Question: 106 of 125 Marks: 2QID: 711
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Q.7) The working of the internal organs of our body is controlled by this system

A. reproductive B. circulatory

C.  respiratory D. nervous

Please mark (✓) for the correct answer.

Q.8) A person might faint if his heart does not - send enough blood to his

A. feet B. kidneys

C. liver D. brain

Please mark (✓) for the correct answer.

Q.9) The upward push of water on a floating object is called

A. buoyant force B. volume

C. density D. pressure

Please mark (✓) for the correct answer.

Q.10) The first artificial satellite launched by India in 1975 was

A. Sputnic 1 B. Aryabhatta

C. Charaka D. Insat

Please mark (✓) for the correct answer.

Q.11) Those who study earthquakes are called

A. geologist B. astronomers

C. seismologists D. astrologers

Please mark (✓) for the correct answer.

Question: 107 of 125 Marks: 2QID: 712

Question: 108 of 125 Marks: 2QID: 713

Question: 109 of 125 Marks: 2QID: 714

Question: 110 of 125 Marks: 2QID: 715

Question: 111 of 125 Marks: 2QID: 716
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Q.12) Which of the following gas is not a greenhouse gas?

A. carbon dioxide B. oxygen

C. methane D. CFC

Please mark (✓) for the correct answer.

Q.13) The model of the earth is called a

A. circle B. sphere

C. globe D. marble

Please mark (✓) for the correct answer.

Q.14) Agriculture cannot be practiced on mountain on a large scale as they

A. are thinly populated B. have a shortage of land

C. have a thin soil cover D. have unsuitable climate

Please mark (✓) for the correct answer.

Q.15) The condition of the atmosphere at a given place and time is called

A. season B. climate

C. altitude D. weather

Please mark (✓) for the correct answer.

Q.16) The highway of Central Africa is another name for

A. River Nile B. River Congo

C. River Zimbani D. River Kwango

Please mark (✓) for the correct answer.

Question: 112 of 125 Marks: 2QID: 717

Question: 113 of 125 Marks: 2QID: 718

Question: 114 of 125 Marks: 2QID: 719

Question: 115 of 125 Marks: 2QID: 720

Question: 116 of 125 Marks: 2QID: 721
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Q.17) Most of the grasslands of the world are found in the

A. Tropical Zone B. Temperate Zone

C. Torrid Zone D. Frigid Zone

Please mark (✓) for the correct answer.

Q.18) Any sound louder than 90 decibels can cause

A. asthma B. digestive problems

C. typhoid D. loss of hearing

Please mark (✓) for the correct answer.

Q.19) Aligarh Muslim University is associated with

A. Tatisen B. Kalidas

C. Syed Ahmad Khan D. Rabindranath Tagore

Please mark (✓) for the correct answer.

Q.20) The English Government policy of divide and rule to

A. educate Indian B. encourage nationalism

C. reform Indians D. suppress nationalism

Please mark (✓) for the correct answer.

Q.21) Purna Swaraj means

A. non-cooperation B. civil disobedience

C. boycott D. complete Independence

Please mark (✓) for the correct answer.

Question: 117 of 125 Marks: 2QID: 722

Question: 118 of 125 Marks: 2QID: 723

Question: 119 of 125 Marks: 2QID: 724

Question: 120 of 125 Marks: 2QID: 725

Question: 121 of 125 Marks: 2QID: 726
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Q.22) The Lok Sabha can have a maximum of

A. 12 members B. 550 members

C. 238 members D. 543 members

Please mark (✓) for the correct answer.

Q.23) The League of Nations was formed to prevent

A. destruction B. loss of lives

C. droughts D. another world war

Please mark (✓) for the correct answer.

Q.24) The world has been made smaller due to

A. wheels B. steam engines

C. fast means of transport D. cares

Please mark (✓) for the correct answer.

Q.25) Internet is a source of information on

A. documentaries B. e-mail

C. any topic D. a few topic

Please mark (✓) for the correct answer.

 

Question: 122 of 125 Marks: 2QID: 727

Question: 123 of 125 Marks: 2QID: 728

Question: 124 of 125 Marks: 2QID: 729

Question: 125 of 125 Marks: 2QID: 730

--- END OF QUESTION PAPER ---
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No Question Type QID Correct Answer
Question - 1 Multiple Choice (Radiobutton) 682 A

Question - 2 Multiple Choice (Radiobutton) 683 D

Question - 3 Multiple Choice (Radiobutton) 684 A

Question - 4 Multiple Choice (Radiobutton) 685 D

Question - 5 Multiple Choice (Radiobutton) 686 B

Question - 6 Multiple Choice (Radiobutton) 687 A

Question - 7 Multiple Choice (Radiobutton) 688 A

Question - 8 Multiple Choice (Radiobutton) 689 C

Question - 9 Multiple Choice (Radiobutton) 690 C

Question - 10 Multiple Choice (Radiobutton) 691 A

Question - 11 Multiple Choice (Radiobutton) 692 C

Question - 12 Multiple Choice (Radiobutton) 693 B

Question - 13 Multiple Choice (Radiobutton) 694 A

Question - 14 Multiple Choice (Radiobutton) 695 A

Question - 15 Multiple Choice (Radiobutton) 696 B

Question - 16 Multiple Choice (Radiobutton) 697 D

Question - 17 Multiple Choice (Radiobutton) 698 A

Question - 18 Multiple Choice (Radiobutton) 699 D

Question - 19 Multiple Choice (Radiobutton) 700 C

Question - 20 Multiple Choice (Radiobutton) 701 A

Question - 21 Multiple Choice (Radiobutton) 702 B

Question - 22 Multiple Choice (Radiobutton) 703 B

Question - 23 Multiple Choice (Radiobutton) 704 C

Question - 24 Multiple Choice (Radiobutton) 705 A

Question - 25 Multiple Choice (Radiobutton) 681 C

Question - 26 Multiple Choice (Radiobutton) 644 A

Question - 27 Multiple Choice (Radiobutton) 645 C

Question - 28 Multiple Choice (Radiobutton) 646 D

Question - 29 Multiple Choice (Radiobutton) 647 C

Question - 30 Multiple Choice (Radiobutton) 648 A

Question - 31 Multiple Choice (Radiobutton) 649 A

Question - 32 Multiple Choice (Radiobutton) 650 B

Question - 33 Multiple Choice (Radiobutton) 651 D

Question - 34 Multiple Choice (Radiobutton) 652 C

Question - 35 Multiple Choice (Radiobutton) 653 D

Question - 36 Multiple Choice (Radiobutton) 654 A

Question - 37 Multiple Choice (Radiobutton) 655 C

Question - 38 Multiple Choice (Radiobutton) 606 B

Question - 39 Multiple Choice (Radiobutton) 607 A

Question - 40 Multiple Choice (Radiobutton) 608 A

Question - 41 Multiple Choice (Radiobutton) 609 D

Question - 42 Multiple Choice (Radiobutton) 610 C
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Question - 43 Multiple Choice (Radiobutton) 611 A

Question - 44 Multiple Choice (Radiobutton) 612 C

Question - 45 Multiple Choice (Radiobutton) 613 C

Question - 46 Multiple Choice (Radiobutton) 614 A

Question - 47 Multiple Choice (Radiobutton) 615 D

Question - 48 Multiple Choice (Radiobutton) 616 C

Question - 49 Multiple Choice (Radiobutton) 617 C

Question - 50 Multiple Choice (Radiobutton) 618 A

Question - 51 Multiple Choice (Radiobutton) 619 C

Question - 52 Multiple Choice (Radiobutton) 620 D

Question - 53 Multiple Choice (Radiobutton) 621 D

Question - 54 Multiple Choice (Radiobutton) 622 B

Question - 55 Multiple Choice (Radiobutton) 623 B

Question - 56 Multiple Choice (Radiobutton) 624 C

Question - 57 Multiple Choice (Radiobutton) 625 A

Question - 58 Multiple Choice (Radiobutton) 626 C

Question - 59 Multiple Choice (Radiobutton) 627 B

Question - 60 Multiple Choice (Radiobutton) 628 D

Question - 61 Multiple Choice (Radiobutton) 629 A

Question - 62 Multiple Choice (Radiobutton) 630 B

Question - 63 Multiple Choice (Radiobutton) 631 D

Question - 64 Multiple Choice (Radiobutton) 632 D

Question - 65 Multiple Choice (Radiobutton) 633 B

Question - 66 Multiple Choice (Radiobutton) 634 B

Question - 67 Multiple Choice (Radiobutton) 635 C

Question - 68 Multiple Choice (Radiobutton) 636 B

Question - 69 Multiple Choice (Radiobutton) 637 B

Question - 70 Multiple Choice (Radiobutton) 638 A

Question - 71 Multiple Choice (Radiobutton) 639 D

Question - 72 Multiple Choice (Radiobutton) 640 D

Question - 73 Multiple Choice (Radiobutton) 641 A

Question - 74 Multiple Choice (Radiobutton) 642 B

Question - 75 Multiple Choice (Radiobutton) 643 C

Question - 76 Multiple Choice (Radiobutton) 656 A

Question - 77 Multiple Choice (Radiobutton) 657 C

Question - 78 Multiple Choice (Radiobutton) 658 B

Question - 79 Multiple Choice (Radiobutton) 659 D

Question - 80 Multiple Choice (Radiobutton) 660 B

Question - 81 Multiple Choice (Radiobutton) 661 D

Question - 82 Multiple Choice (Radiobutton) 662 D

Question - 83 Multiple Choice (Radiobutton) 663 A

Question - 84 Multiple Choice (Radiobutton) 664 D

Question - 85 Multiple Choice (Radiobutton) 665 D

Question - 86 Multiple Choice (Radiobutton) 666 D

Question - 87 Multiple Choice (Radiobutton) 667 C

Question - 88 Multiple Choice (Radiobutton) 668 D

No Question Type QID Correct Answer
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Question - 89 Multiple Choice (Radiobutton) 669 B

Question - 90 Multiple Choice (Radiobutton) 670 A

Question - 91 Multiple Choice (Radiobutton) 671 A

Question - 92 Multiple Choice (Radiobutton) 672 B

Question - 93 Multiple Choice (Radiobutton) 673 C

Question - 94 Multiple Choice (Radiobutton) 674 A

Question - 95 Multiple Choice (Radiobutton) 675 D

Question - 96 Multiple Choice (Radiobutton) 676 B

Question - 97 Multiple Choice (Radiobutton) 677 C

Question - 98 Multiple Choice (Radiobutton) 678 D

Question - 99 Multiple Choice (Radiobutton) 679 B

Question - 100 Multiple Choice (Radiobutton) 680 A

Question - 101 Multiple Choice (Radiobutton) 706 A

Question - 102 Multiple Choice (Radiobutton) 707 B

Question - 103 Multiple Choice (Radiobutton) 708 C

Question - 104 Multiple Choice (Radiobutton) 709 C

Question - 105 Multiple Choice (Radiobutton) 710 C

Question - 106 Multiple Choice (Radiobutton) 711 C

Question - 107 Multiple Choice (Radiobutton) 712 D

Question - 108 Multiple Choice (Radiobutton) 713 D

Question - 109 Multiple Choice (Radiobutton) 714 A

Question - 110 Multiple Choice (Radiobutton) 715 B

Question - 111 Multiple Choice (Radiobutton) 716 C

Question - 112 Multiple Choice (Radiobutton) 717 B

Question - 113 Multiple Choice (Radiobutton) 718 C

Question - 114 Multiple Choice (Radiobutton) 719 C

Question - 115 Multiple Choice (Radiobutton) 720 D

Question - 116 Multiple Choice (Radiobutton) 721 B

Question - 117 Multiple Choice (Radiobutton) 722 B

Question - 118 Multiple Choice (Radiobutton) 723 D

Question - 119 Multiple Choice (Radiobutton) 724 C

Question - 120 Multiple Choice (Radiobutton) 725 D

Question - 121 Multiple Choice (Radiobutton) 726 D

Question - 122 Multiple Choice (Radiobutton) 727 B

Question - 123 Multiple Choice (Radiobutton) 728 D

Question - 124 Multiple Choice (Radiobutton) 729 C

Question - 125 Multiple Choice (Radiobutton) 730 C

No Question Type QID Correct Answer
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